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QUESTION 1

Given: 

import java.util.Map; 

import java.util.Set; 

import java.util.TreeMap; 

public class MapClass { 

public static void main(String[] args) { 

Map partList = new TreeMap(); 

partList.put("P002", "Large Widget"); 

partList.put("P001", "Widget"); 

partList.put("P002", "X-Large Widget"); 

Set keys = partList.keySet(); 

for (String key:keys) { 

System.out.println(key + " " + partList.get(key)); 

} 

} 

} 

What is the result? 

A. p001 Widget p002 X-Large Widget 

B. p002 Large Widget p001 Widget 

C. p002 X-large Widget p001 Widget 

D. p001 Widget p002 Large Widget 

E. compilation fails 

Correct Answer: A 

Compiles fine. Output is: P001 Widget P002 X-Large Widget Line: partList.put("P002", "X-Large Widget"); overwrites
line: partList.put("P002", "Large Widget"); 

 

QUESTION 2
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Given: 

interface Rideable { 

String ride() ; 

} 

class Horse implements Rideable { 

String ride() { return "cantering "; } 

} 

class Icelandic extends Horse { 

String ride() { return "tolting "; } 

} 

class Test { 

public static void main(String[] args) { 

Rideable r1 = new Icelandic(); 

Rideable r2 = new Horse(); 

Horse h1 = new Icelandic(); 

System.out.println(r1.ride() + r2.ride() + h1.ride()); 

} 

} 

What is the result? 

A. tolting cantering cantering 

B. cantering cantering cantering 

C. compilation fails 

D. an exception is thrown at runtime 

Correct Answer: A 

 

 

QUESTION 3

Given the following files in doc directory: And the code fragment: 
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What is the result, if doc is present in the current directory? 

A. No output is produced. 

B. index.htm 

C. index.htm userguide.txt logo.gif 

D. index.htm service.html userguide.txt logo.gif 

Correct Answer: B 

The Glob search expression is defined through "glob:*.htm, html, xml" Only the file name index.htm matches this
pattern. 

 

QUESTION 4

Given: 

public class Runner { 

public static String name = "unknown"; 

public void start() { 

System.out.println(name); 

} 

public static void main(String[] args) { 

name = "Daniel"; 

start(); 

} 

} 

What is the result? 
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A. Daniel 

B. Unknown 

C. It may print "unknown" or "Daniel" depending on the JVM implementation. 

D. Compilation fails. 

E. An exception is thrown at runtime. 

Correct Answer: D 

The compilation fails at line start(); 

Exception in thread "main" java.lang.RuntimeException: Uncompilable source code - non- static method start() cannot
be referenced from a static context 

 

QUESTION 5

Which type of ExecutorService supports the execution of tasks after a fixed delay? 

A. DelayedExecutorService 

B. ScheduledExecutorService 

C. TimedExecutorService 

D. FixedExecutorService 

E. FutureExecutorService 

Correct Answer: B 

The ScheduledExecutorService interface supplements the methods of its parent ExecutorService with schedule, which
executes a Runnable or Callable task after a specified delay. In addition, the interface defines scheduleAtFixedRate and
scheduleWithFixedDelay, which executes specified tasks repeatedly, at defined intervals. 

Note: The java.util.concurrent package defines three executor interfaces: 

*

 Executor, a simple interface that supports launching new tasks. 

*

 ExecutorService, a subinterface of Executor, which adds features that help manage the lifecycle, both of the individual
tasks and of the executor itself. 

*

 ScheduledExecutorService, a subinterface of ExecutorService, supports future and/or periodic execution of tasks. 

Reference: The Java Tutorials, Executor Interfaces 
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